
 1.00
25.4

 

MLPE BRACKET

 
74.0

 2.91

 .44
11.2

 

M6 BOLT FOR 
MODULE 
CONNECTOR 
ATTACHMENT

5/16" BOLT 
OPTIMIZER 
ATTACHMENT

5/16" NUT

PART NUMBER DESCRIPTION
5000619 KIT, MLPE, 100PK, CFRP

KIT, MLPE, 100PK, CFRP

PRODUCT CUT SHEET

SHEET   OF   3 Rev:1 CS-1



KIT, MLPE, 100PK, CFRP

ITEM NO. DESCRIPTION
1 MLPE BRACKET, CFRP
2 BLT, HEX FLG, TRI, M6X16, ST. PATCH
3 BLT, HEX, FLG, SERR, 5/16-18 X .63L, 304SS
4 NUT, HEX, FLG, SERR, 5/16"-18, 304SS

MATERIAL STEEL

FINISH ZINC-ALUMINUM-MAGNESIUN, DELTA 
PROTEKT MKS SILVER

1) MLPE BRACKET, CFRP 2 )BLT, HEX FLG, TRI, M6X16, ST, PATCH

3) BLT. HEX, FLG, SERR, 5/16-18 X .63L, 304SS 4) NUT, HEX, FLG, SERR, 5/16"-18, 304SS

PRODUCT CUT SHEET

Rev:2SHEET   OF   3 CS-1

.31
7.9

 .625
15.87

5/16-18 UNC-2A

100X1

100X 4

100X 1

2100X

2.91

25.4
1.00

.33

74.0

8.4

 .41
10.4

.56
14.2

 .39
10.0

11.2
.44

 1.29
32.8

 1.53
38.8

M6 THREAD

.24
6.0

 .63
16.0

 .28
7.2

17.5
.69

 .50
12.7

17.3
.68

 .50
12.7

5/16-18 UNC-2B



 47.99
1219.0

1016.0
40.00

 36.61
929.8

PRODUCT CUT SHEET

Rev:SHEET   OF   3 3 CS-1

PACKAGING INFORMATION
PART NUMBER DESCRIPTION PALLET QTY. UNIT QTY. PALLET WEIGHT
5000619-PCK KIT, MLPE, 100PK, CFRP PACK INST. 164 1 1,797 LBS

KIT, MLPE, 100PK, CFRP
PACKAGING INFORMATION

PART NUMBER DESCRIPTION PALLET QTY. UNIT QTY. PALLET WEIGHT
5000619-PCK KIT, MLPE, 100PK, CFRP PACK INST. 164 1 1,797 LBS




